7}‘%"1 %jku:

(A= AR

FOBIS ST R

S opc 330014 B 1R F £ el 531
AP D WE B #E

% 3 1 3387506427

T3 1 4 1 10041831@ns. tyc. edu. tw

X RFR R TR

Frpdoi? =ARI0EG6? 10
w2 FEL P F 110005052850

AT I ST
?r»aizuﬁ* RN ) RS

iE L lil (376735100E_1100050528_ATTACH1. pdf)

ia:f{ﬂ@ﬁ%iﬁ%%a’%ﬂﬁi%raﬁﬁ%ﬁ%ﬂ

N2

*ﬂ%"J Jl'/p ﬁﬁ'% ’ %‘ﬁ%°

O
— S EBRES FeRrh A 10467 TP 453 % 1100003480
B 0PI (4obd it ]) o
B

St E AR RSREAE  (THEMRE) 0 25
g L mar FIF Mg 5 2 AR R ﬁ%@w’%?
i%%*ﬁé%ﬂ%%h’ X R AR CRIE S R R I
T EWET rgﬁ&%ﬁ,ﬁ ﬁw%»iw’ﬁ
%gﬁiﬁﬁ”ﬂ%%tﬁﬁ%ﬁ’” N Rl

SRS TR
=~ é/ﬂ'—;TL kf:;f%fifﬁﬂ/; AR 4 F‘uf ’ FF ’;+ f’fﬂ:{Pm& 1 f’l‘

Bt 3 P EER Ted o BFHE Y T 4 |
(https://elearn. hrd. gov. tw/mooc/index. php) & K& 7
oo iE Pg %fﬁt T'Frbn 7]{9 i F%(ﬁ“}_ °

Bk AT AP EBR (R FAAAR) AP A 2 M OF - PED RO PR T

S BT AR E T 20 P SRR B P E (BB RORR T Rk B0
:v})

110/06/10 14:14

¥ 1 E 2 2F H"mHm”m"m"mm“"mmmmmmHmm

-




Bl A& RF FORRT b RO E T aedebn el
oyl

b



